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- Allpages and all questions are properly
printed.
In case of any discrepancy/defect, the
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Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
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3. OnO.M.R.Answer Sheet, use blue ball point pen only. Please, fill your Roll
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4. Allquestions carry equal marks. For each wrong answer 1/3 mark of the
question will be deducted.

5. Ifmore than one response is marked for a question, it would also be treated
as wrong answer.

6. Each question has five options/circles. First four options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
‘Question not attempted'.
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circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle ‘E’ should be darkened.

8. 1/3partof the marks will be deducted for the questions, if none of the option/
circle options are darkened.

9. Ifacandidate leaves more than 10 percent questions or does not darken any
of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled
up any one option/circle for each questions.

11. Ifthereis any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
treated as final.

12. Use of Mobile Phone/Bluetooth Device or any other electronic gadget in the
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unauthorized material is found in his/her possession, F.|.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to¥ 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.
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15 ST 2025 Bt AT Taw H&t 7= 7T 2

(A)  Taeedt (B) SR

(© TaTEEr (D) gor

(B) 3raRd wed

frfetiad & & o FTdsTi-e AEel & e § 93T
qIT-2025 T FHAT FHITTATE ?

(A) ot geiid AR G

(B)  sfIH AT

(©) it arsufd werm

(D) =t Fawm fSiea

(B) 31 aRd e

T it g faea ghe, Tt fedia fasa gg
ST ST 6 TS qeh STel-[THT S % &9 H IqT
fepaT T, &

(A)  THEAEERE

(B) WS

©) FHr

(D) fuster

(B)  3rfaia ued

1428 H BIT-HT Bl F Bl TEAT B STed I T
@3, 4, 5 3R 6 A Yoia: fervmeer ERTT 2

(A) 15 (B) 18

© 9 (D) 12

(B)  3raRd e

HITS I A 8T R F=AT3H B TgaqT=+ | WeTH
JTHTOT HIH-TTE ?

Where was Army Day celebrated on 15 January
20257

(A) Delhi (B)
(©) Guwahati (D) Pune

Bangalore

(E)  Question not attempted

Who among the following, has been conferred the
Padma Bhushan-2025, in the field of Public
Affairs ?

(A)  Shri Sushil Kumar Modi

(B)  Shri Ram Naik

(C©)  Smt. Arundhati Bhattacharya
(D)  Dr. Sitaram Jindal

(E)  Question not attempted

The famous lake of Rajasthan which was used as a
sea-plane base for about 6 years during World
War-II is :

(A) Anasagar
(B) Rajsamand
(C©) Nakki

(D) Pichola

(

E)  Question not attempted

What is the least number which should be added to
1428, to get the resulting number exactly divisible
by 3,4,5and 67

(A) 15 (B) 18
<o 9 (D) 12
(E)  Question not attempted

Which device is able to recognize alphabets and
numbers printed on paper ?

(A) 3MHATIMW. (OCR) (A) OCR

(B) THUHEL (SSD) (B) SSD

(C) LW, (BCR) (C) BCR

(D) 3WTAIW. (OMR) (D) OMR

(B) 3raRd wed (E)  Question not attempted
€ DB29 2
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6. a}a‘éqﬁ, =T qem Wﬁlﬁ Wﬁ 3 : 4 BT AT AT 6. Two years ago, the ratio of ages of Vinay and Ashu
T 9T ITRT M H 7 - 9 BT SR | 39 was 3 : 4. One year hence, the ratio of their ages will
o T %:ITIT 1 be 7 : 9. What is the present age of Ashu ?
T IAAT ST FATE ? P 8
(A) 2699 (B) 24Td (A) 26 years (B) 24 years
© o7a9 (D) 25ad (C) 27 years (D) 25 years
E PEC E Question not attempted
(B) 3raRd (E) p
7. USRI A 7 d ST ST U TR -2025 H BIA-AT|7.  What position did Rajasthan secure in the 7th Khelo
T UTT '&b—q-r ? India Youth Games-2025 ?
A TuH (B) Q?-ﬁ'é:r (A) Fifth (B) Third
Q) feag D) wH (C©)  Second (D) First
E PRC E Question not attempted
(B) 3raRd (E) P
8. ﬁ:rﬁrli'@—g%_q: &ﬁl‘l‘é qﬁ‘aﬁa‘-{r, = ®Y T IS F | 8. The Sidhmukh-Major Irrigation Project primarily
frefeRea 39, fre dr Bl e ad BT e 2 benefits which of the following regions in
’ ) Rajasthan ?
(A) CIEAGES (B) 3T@IX (A) Bikaner (B) Alwar
C D C Bharatpur D) Hanumangarh
HIAYR ERUIBHI p g
E 79T E Question not attempted
(B) S (E) p
9. TSR | BIAT g‘aﬂé 31T aﬁ‘fﬁ%% ? 9. Where in Rajasthan is the Kolana Airport located ?
(A) e (B) <i® (A) Sikar (B) Tonk
C D AT C Jhalawar D) Nagaur
S ICICIES g
E PEC E Question not attempted
(E)  3rgand (E) p
10. 3I=U IETET & =T TATEIST Bt ﬁgﬁﬁr % f&w,[10. For appointment of the Chief Justice of a
R FT TI'%{CI'FC[ foreg & et EﬁTclT% . High Court, the President of India consults
) the :
(A)  HETHA (A)  Chief Minister
(B) wrRa % = STITENST (B)  Chief Justice of India
© FSTIEHA (C)  Union Home Minister
(D) werrEsT (D)  Prime Minister
E 9 E Question not attempted
(E) arfaRa (E) p
11.  frAieTad § § BI-91 9eel 7ol ®f 9e&™® Aer et |11. Which of the following rivers is not a tributary of
% 9 the river Chambal ?
(A) gt (B)  HTclITer (A) Parbati (B) Kalisindh
(C) = (D) w9 (©) Mahi (D) Banas
E PEC E Question not attempted
( p
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12.  TrfeREd § @ -1 3T TTSTEUTAY 5 3797|12.  Which one of the following articles of jewellery is
FAT A TETTE 2 worn by Rajasthani men in their ears ?
(A)  Eger (B) du (A) Hansuli (B) Choonp
© Ha (D) Tt (C)  Mundri (D) Murki
(E) 31:@'&7—[ PEC (E)  Question not attempted
13. oMM | U= 37T T “STror |TaT |iee” fFw|13.  The most important ancient “Jeen Mata Temple” in
TET 3 ToTerh Rua ¥ 9 Rajasthan, is located near :
e e o ¥ @_ . Choose the most appropriate answer from the
T TeTRE ferehed H o e SUYERT 3T T options given below :
(A) T B) == (A)  Jhunjhunu (B) Churu
() wdER (D) wHHT (C)  Bikaner (D) Sikar
(B) 3raRd wed (E)  Question not attempted
14, eEans, st (2005) Ft FrTieTiad # 9 5w |14, Which of the following sections of the RTI Act
Wﬁw%mﬁ%wwé 9 (2005) has the provision for exemption from
- ) disclosure of information ?
(A) «gnT4 (B) «mTs (A) Section 4 (B) Section 8
© gnrr12 (D) 9mrT3 (C)  Section 12 (D) Section 3
(E) arv-ﬁﬁ—c[ 9T (E)  Question not attempted
15. WA 999 & IR, ST e Tu fgemadeer |15.  Under the Indian Constitution, a person who is not
HTHCT TR ﬁﬁﬁW%WTGITW% AfET a member of the State Legislature may be appointed
afe ’ = Rl g ¥ ' as a minister, but if he/she is not elected to the State
EF@" i Ei a . —_— : Legislature within from the date of
FenAiEd BT ¥aw faitaa T&l gl &, af 3¢ 98 appointment, he/she must vacate the office.
BIEATIgATE |
(A) gHIE (B) 15HTE (A) 8 months (B) 15 months
(C©) e (D) 129E (©) 6 months (D) 12 months
(E) 31’71’?1'&6[ PEC (E)  Question not attempted
16.  HIT P STEITOTAT (2011) *F AR, TSR TH H,|16. As per the Census of India (2011), which of the
frferiEa § & fra e Y sde (den #) ged following districts had the lowest population
(in numbers) in Rajasthan state ?
FAUT?
(A) AT (B) IE (A) Jaisalmer (B) Churu
C) TSHHEE (D) = (©) Rajsamand (D) Barmer
(B) 3raRd wed (E)  Question not attempted
17.  3SIT, FoiteTe, TS 3T i"“i* TS & |17.  Udaipur, Chittorgarh, Rajsamand and Dungarpur
frerferiaa & @ few s T e 2 are part of which of the following regions of
R S : ) . Rajasthan ?
#a ST Wﬂﬁ : Choose the most appropriate answer from the
options given below :
(A) =T (B) wHaTe (A) Braj (B) Mewar
(©) wARaE (D) E=ar (©) Marwar (D) Hadoti
(E) a:lﬂﬁ—c[ g9 (E)  Question not attempted
@ 4
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18. 2011 I STATUTAT & AR, ASTEATT H JTHIT &7 # (18, In the rural area of the Rajasthan, the sex-ratio of

AT /TTABT (0-6 3 TR m o7 - (0-6 age group) of children (female/1000 males) in
/ ( T ) 2011 was :

(A) 892 (B) 933 (A) 892 (B) 933
© 911 (D) 874 © 911 (D) 874
(E) 31:@'&7—[ PEC (E)  Question not attempted

19.  FX fergm gt ottt |, T T 3 91[19. In computer science terminology, the full form of
(SMTP) HTIOI &7 ; SMTPis :
(A FHAS Q‘r@:ﬁé IGIEAG] (A)  Source Mail Transport Protocol
(B) U HA TS WSTh i (B)  Simple Mail Transport Protocol
Q) wHAA TAEY IR (C)  Source Mail Transfer Protocol
(D) e A T P IGEAGH (D)  Simple Mail Transfer Protocol
(E) 3]7-@%\—(-[ g9 (E)  Question not attempted

20. u‘%x+y=1()l y+z=8 3ﬁTz+x=24%, asrx, y 3T 2| 20. If x+y=10, y+z=8 and z +x =24, then the average
EH[C%T\IET-T% ofx,yand zis:
(A) 10 B) 9 (A) 10 (B) 9
© 14 D) 7 © 14 D) 7
(E) 3]7-@%\—(-[ PR (E)  Question not attempted

21. “aﬁ‘rﬁwﬁ” (71 SBT3t &1 @) [ for@r |21, “Batan Ri Phulwari” (collection of folk tales) was
9T 9 written by :
(A) Eﬁtﬂa‘la AfeaT (A) Kanhaiyalal Sethia
(B) sOEaT™ (B)  Shyamal Das
©) TaSEEEERT (C) Vijaydan Detha
(D)  quH sTft (D) Nathmal Joshi
(E) 347—\13@?-[ g9 (E)  Question not attempted

22, UHARGTA T2 HABISTH TS TITRaT @RSl 31T [22. A man bought some sweets at the rate of 4 for ¥ 21
ﬁ 7 13 % 2 Y 2T F = fem) Wﬂﬁﬁ?ﬁﬁﬁ and sold them at the rate of 2 for ¥ 13. In the whole

- . transaction he gained ¥ 180. How many sweets did

% 180 T EATH 3T | IW foher=it Siiepat wiat ot 2 he buy ? 5 Y
(A) 144 (B) 140 (A) 144 (B) 140
© 132 (D) 150 © 132 (D) 150
(B) 3raRd wed (E)  Question not attempted

23. WA 9T HT BIA-97 AT A {feTe Pt §|23.  Which of the following Articles of the Constitution
Wﬁlﬁ% 9 of India deals with the Fundamental Duties ?
(A)  IITHI51A (B) ITT=T244 A (A) Article 51 A (B)  Article 244 A
(©) 3rg=s351 (D)  ITT=I42A (C)  Article 51 (D) Article 42 A
(E) a:lﬂﬁ—c[ 9T (E)  Question not attempted

| 4 DR29 5 P.I.0
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24. T=fafEd § 9 i, TR |, ST 99 & (24, Who among the following is the founder of the
FEATTHE 2 Kamadia Panth in Rajasthan ?
(A) q‘@\rrﬁ' (A) Pabuji
(B) TSI (B)  Ramdeviji
© SIATRTIOTSAT (C©) Devnarayanji
(D)  HAfooTATeIS (D)  Mallinathji
(B)  3raRd e (E)  Question not attempted
25. = H A BIA-T ISR H ST THS HT qIH ST 25. Which of the following is the largest Jain fair in
W%\-ﬁw T & AT AT E 2 Rajasthan that is celebrated in Chandanpur
8 village ?
(A) I HETTSI HAT (A)  Shri Mahavirji Fair
(B) T i HeTT (B)  Kapil Muni Fair
©) wdER AT (C©)  Bhartrihari Fair
(D) =TT TS /AT (D) Diggi Kalyanji Fair
(E) 3]7-@%\—(-[ PR (E)  Question not attempted
26. 3T ST TSTEAT & TohH 8151 H U=Ifeid Ueb ofieh | 26.  Alibakshi Khayal is the prevalent folk drama of
e ey 2 which region of Rajasthan ?
(A) IR (A) Alwar
(B) S3uqR (B)  Udaipur
© ST (C) Jaisalmer
(D) Tfﬁﬂ'%? (D)  Jodhpur
(E) 3]7-@%\—(-[ g9 (E)  Question not attempted
27.  9¥ 2025 H TR & Metanga § ¥ 69 957 8fY|27.  Who among the following is the Padma Shri
T UTE '§’31T% 5 awardee for the year 2025 from Rajasthan ?
(A) IqA (A) Begum Batool
(B) JIE]’[EE[ U (B)  Gulabo Sapera
() srafraE (C)  Avani Lekhara
(D) AT AT (D) Munna Master
(E) 347—\13@?-[ g9 (E)  Question not attempted
28. A quT B THarsT fRet B @Y 10 &7 A HT Hhd £;|28. A and B together can do a work in 10 days; B and C
B HQTC&IWG@WQ%H%?&WW% ST together can do the same work in 12 days whereas
: . +3 ’ A and C together can do it in 15 days. How long will
ATIC @15%:[-&%_{ ) glafe A, B A, B and C take to do the work if they work
C iiilEi HI ?h‘l'éfilﬁﬁlra' %!SEI-%I HHAY ﬁﬁmﬁw together?
A ?
! = L
(A) 7 5 (B) 8 (A) 7 > days (B) 8days
1 1
© 8 o= D) 7%= (©) 8 days (D) 7 days
(E) 31_-\!)?1'% A (E) Question not attempted
6
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29.  grpHT AT He AR Efarga v wrsae sl |29+ Study the graph and answer the following
F=) 39 1 3¢ (E E - ‘ﬁ) question :
80 + Production of Raw wool (in Metric Tonnes)
76 80 +
75 + 73 76
75 + 73
70 +
65 68 70 + 68
65 + 65
65 +
60 + = 58 60
55 + 5 53 55 1
50 01315 201415 201516 201617 201718 201819 201920 202021 50
2013-14 2014-15 2015-16 2016-17 2017-18 2018-19 2019-20 2020-21
ot o =t ‘1(*"1! # Pl S ST H ATHAA The maximum rise in the production of raw wool
Q’%{ ﬁgé% | with respect to previous year :
(A) 2020-21 (A) 2020-21
(B) 2016-17 (B) 2016-17
(©  2019-20 (©) 2019-20
(D) 2017-18 (D) 2017-18
(E) Wﬁ?{ PR (E)  Question not attempted
30. T H9H $f ‘99’ 997 MEegd § 9 Bpaw [30. The ‘Mavath’ rainfall of the Rabi season, is
ety 9 associated with which one of the following ?
(A) W-qj ATTEA (A)  North-East Monsoon
(B) TErEY f%rgﬁﬂ:[ (B)  Western disturbances
© Wqﬂ'@'@'qﬁ"ﬂ'ﬁmﬁgﬂﬁ (C) Bay of Bengal Monsoonal Winds
(D) eferor-ufe=w AT (D)  South-West Monsoon
(E) a:lﬁﬁ—d g9 (E)  Question not attempted
31. INTIe 9adHTAT S [T Wﬁmqﬁﬁ'ﬂﬁ'&ﬁaﬁ 31. In which part of the Aravalli range, is the Taragarh
¥9 mountain peak, located ?
(A) a‘féq‘trﬁ NI é;}r;r (A) Southern Aravalli Region
(B) IO IWTAAT @3[ (B) Northern Aravalli Region
(C) afeqor -Tﬁ qoRT & (C)  South-Eastern Plateau Region
(D) =wem STTIAT gii—sr (D) Central Aravalli Region
(B) 3raRd wed (E)  Question not attempted
32, Y El'l’g;L 3T STGHUT ITH hTHS =laigg 9 9 59|32 Mangi Bai and Lakshman Das Kamad are the
BT F WRAE FATHRE 2 prominent dancers of which of the following dance
) forms ?
(A) wwH (B) REEGIGI (A) Bum (B) Terah Taali
© TR (D) ‘H?ﬂé (©) Ghoomar (D) Bhavai
(E) 3]'-\])7—|ﬁ7—r PR (E)  Question not attempted
Z P.TO
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33. difaar= SR EATE 33. Jaundice is caused due to :

ﬁﬁ%ﬁﬁ%ﬁﬁ@mww@ Choose the most appropriate answer from the
) options given below :

(A T T g(ﬁ:]'la:]ﬁ? BT TTFRAT (A)  Excess of hemoglobin in the blood
(B)  Tord W ToIci IS e &b 3TTeresd (B)  Excess of bilirubin in the blood
O T A Qe B 37RsdT (C)  Excess of potassium in the blood
(D) TH 'q;ﬁ‘:ﬁ 3T Bl ITRIHAT (D)  Excess of uric acid in the blood
(E) 31:@'&7—[ PEC (E)  Question not attempted

3. A, B 3N C A9 AT F QT{TQIQT@E'Iﬁ Sl'\ﬁa%| at|34. A, B and C entered into a partnership by making
AET IS, B ¥ 3197 FTI9T Y 509 1T 7 37T Forarar equal investments. After 2 months, B made an
R ' 3 ° additional investment of 50% of his initial

qaac 2[ ) ferereT 6t 20% TRT Eh—r Y fraen investment and C made an additional investment of
ROl G B ITHATT A BIT 22,800 SITHIRT B ,?ﬁ 20% of his initial investment. If at the end of the
@[(—rm:rmaﬁﬁ year, A received ¥ 22,800 as his share in the profit,
then find the total profit.

(A) 79,500 (B) 80,920 (A) 79,500 (B) 80,920
(©) 81,700 (D) X 78,600 (©) ¥ 81,700 (D) 78,600
(E) alT-ﬁﬁ_c[ PEC (E)  Question not attempted

35. ISTRUTH S 202526 % IR, T T [paa | 35. According to the Rajasthan Budget 2025-26, how
T Iee RIS & AT St T T S TS 2 2 many greenfield expressways are planned to be

) constructed in the State ?

(A) 8 ® 9 (A) 8 ® 9
< 20 (D) 15 < 20 (D) 15
(E) 31’71’?1'&6[ PEC (E)  Question not attempted

36. W%WW, G, H‘;(T{-Eq@' =T ®a®*|36. The important saint of Rajasthan, Pipa, was
ITF 9 - originally a ruler of :
(A)  dEnTe (B) PTG (A) Lohagarh (B) Kumbhalgarh
© ARG (D) TR (©) Bhangarh (D) Gagron
(E) Wﬁ?{ PRC (E)  Question not attempted

37.  HERTOM ¥ ST A “Tasta w@w’, frafafaa # (37 The “Vijay Stambha’ built by Maharana Kumbha is
I Fra e a Rua 0 found in which one of the following forts ?
A) TaiEg (B) SEATTE (A)  Chittorgarh (B) Junagarh
© I (D) FHATG (C) Jaigarh (D) Kumbhalgarh
(E) 3:['-\1);1‘% 9T (E)  Question not attempted
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38. Tt G&T BT TeT 4T, T e wr 3uRufrF ®ror|38.  The red colour of red soil is primarily due to the
ﬁ?ﬁ% . presence of :
(A) T8 F A EE] (A) Oxides of iron
(B)  ATSSISI % 3NFATES (B)  Oxides of nitrogen
(C)  HfcymH HBIEHS (C)  Calcium carbonate
(D) wTETHAZS (D)  Sodium nitrate
(E) 31:@'&7—[ PEC (E)  Question not attempted

39. WA ¥ FHHY T5U & HETferae (TSTThe STAXA) #1|39. In India, the Advocate General for a State is
I(\%(I?m BT BLATE 2 appointed by the :
(A)  THBTHEA = (A) State Minister of Law
(B) 39 TSY BT ITSUIATH (B)  Governor of that State
(C) Teula (C) President
(D) 3ITITH Eb‘rii@'q—;ﬁ (D)  Chief Minister of that State
(E) 3]7-@%\—(-[ PR (E)  Question not attempted

40. 2009 HHETH BT qd * gg%r T a??r TEITIATHS |40.  The collapse of which bridge in Kota in 2009 caused
3TTIRT3TE 2 a major infrastructural disaster ?
(A) ST (A)  Daiji Bridge
(B) <uel 9T (B)  Chambal Bridge
© 9T qd (C)  Sattapol Bridge
(D) <Tiedie qd (D) Chandpole Bridge
(E) 347—\13@?-[ g9 (E)  Question not attempted

41. TUHTUY, THA ®, MEangd § ¥ Bi-97 R |41. In MS Excel, which of the following functions
qeh9fie 3 ATt fea & whiel e way fa T gimat allows one to keep specific rows and/or columns
. ey ) 39 visible while scrolling through the rest of the

[ATTe R AT E ? worksheet ?

(A)  wieTuy (A) Freeze Panes
(B)  RAshid ShifeT (B)  Synchronous Scrolling
Q) e qHT (C©)  Smart lookup
D) =AY (D)  Custom View
(E) 347—\13@?-[ g9 (E)  Question not attempted

42.  TY-TRY IMUSTYEEH $ g9 §, UDMA a;rq;n‘]’m 42. In the context of State-level disaster management,
TR what is the full-form of UDMA ?
(A)  FFaHd TEARET HASTNIA TSTHT-Rg LT (A)  Universal Disaster Managerial

Administration
(B)  gAEs fesTTeeT AAsTHe 3rUiieT (B)  United Disaster Management Authority
Q) 3w+ %awﬁﬁaﬁ‘aﬁqgﬁﬁlﬁsm (C©)  Urban Disaster Managerial Administration
(D)  37e fEsTRe AASTHE 3TUTRET (D)  Urban Disaster Management Authority
(E) a:lﬂﬁ—c[ 9T (E)  Question not attempted
| 4 DR29 9 P.I.0
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43.  HIZHETE IS (Microsoft Word) F gy eeee 7|43-  Which Shortcut key is used for opening the Font
" 3 fore w o = Size Box in Microsoft Word to change the Font Size
H'il,rc Hl\?\ﬂ qa;o:qﬁ% Pl e et of selected text ?
Tfewe @3‘ 1 - ?
(A)  Shift+F (A)  Shift +F
(B) Ctrl + Shift + P (B)  Ctrl + Shift + P
© Cul+V © Cul+V
(D) Ctrl+P (D) Ctrl+P
(E) 3@% T3 (E)  Question not attempted
44, @Wﬁg}aﬁﬁ-g 5’700Wﬁﬁ|@aﬂw 44. A dealer sold two items for ¥ 5,700 each. On one
37 14 BT ST B3 3%@“@ o T ggl item he gained 14% and on the other item he lost
14% ‘ g 5% W 5%. Find his profit or loss percentage in the whole
j\qﬁ é_"léq ﬁ- ?@l’ '§3T|' SIGEPEI g-lﬁ Qﬁ?ﬁ qrd Eﬁ\f l transaction.
A) T3 7 % B) T4 L % (A) Profit 31 % (B) Profit 41‘7
) 1" ®) 2" 11 2
2
(C) @= 3% % (D) T TH11% (C) Loss 3H % (D)  Profit 11%
(E) 34:@-&—(-[ 9T (E)  Question not attempted
45. T UIgY A quT B TRET SHt BT A 40 THAE quT 45. ;"(x)/vo pipes Aand B can 1fill aI f’taEk 1}r11 4(})1 min}ltes and
f : 3 i 3 e minutes respectively. oth the pipes are
50. AN %l?:ﬁlc{ o W opened simultaneously, then after how much time
TE At Tepa wwer (TRt ) & a1e w18 ™ A i de fohar (in minutes) should pipe A be closed so that the tank
ST ETET 96 2T 30 THee # 9 ST 2 gets filled in 30 minutes ?
(A) 14 (B) 15 (A) 14 (B) 15
1 1
Q) 15E (D) 16 © 155 (D) 16
(E) iﬂﬁﬁ_ﬂ 9T (E) Question not attempted
46.  TSTEATT H B T ST ITIT 3797 10 IT-ITaT & fog |46. - Which riv.er basin in Rajasthan is known for its
T ST 2 10 sub-basins ?
(A) FTAH (B) AT (A)  Banas (B) Luni
(c ™= el (D) It (©) Mahi (D) Chambal
(E) 3:@;@;{ u9T (E) Question not attempted
47.  TSTEAT P I HATS AN A S 3ﬁTmeﬂTa 47. The famous folk song ‘Humseedo’ sung by both
] — o AT e Rra T males and females together in the Northern Mewar
ﬁl-lﬂ’l . ;l(ﬂl el et eHMlel T Hs region of Rajasthan, belongs to which community ?
TS 2
(A)  FERET (B) i (A) Sahariya (B) Bhil
(C) TR (D) #=T (©) Garasia (D) Meena
(E) Wﬁ—d w9 T (E)  Question not attempted
| % DB29 10
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48. R U qAT H 259% 316 UT 6T 3T 98 15 3761 |48.  Riya scored 25% marks in an examination and failed
I w TE TS STATE ST I I F 40% 34 by 15 marks while Nancy scored 40% marks in the
ﬁ-h'Q’ ¥ ot & . 5 % same examination and got 15 marks more than the
AT i ﬂi\'ﬂdH ST | 15 3T ! minimum passing marks. The minimum passing
WW% : marks are :
(A) 55 (B) 40 (A) 55 (B) 40
© 50 (D) 65 (© 50 (D) 65
(B) 3raRd wed (E)  Question not attempted
49. “FARES” (FEA W) e uig aUTUfgs T |49, The “Jaipur Foot”, a prosthetic limb, was developed
qrtest & frehiya fearmar ot 2 under the guidance of which renowned Orthopedic
' Surgeon ?
(A)  Et.anneumrear (B) ST Ur®. der (A)  Dr. Ashok (B) Dr. P.K. Sethi
Panagariya
(© <SrdtFmaad (D) ShayE Hear (C) Dr.BK Goyal (D) D.R. Mehta
(E) alT-ﬁﬁ_c[ PEC (E)  Question not attempted
50. Hﬁnﬁmaﬁqﬂ'ﬁﬁﬁmﬁw% gﬁ‘ar 50. The Mahi Mahotsav is officially celebrated in the
A gierad AT ST | region of Rajasthan every year.
(A) W (B) Udme (A) Dungarpur (B) Pratapgarh
(C) e (D)  wiarET (C)  Sirohi (D) Banswara
(E) 3]7-@%\—(-[ PR (E)  Question not attempted
51. WA I STTOMAT (2011) * AR, TSI %|51. As per the Census of India (2011), which of the
frrferiaa & & fra Rt 9 seen § syar i following districts of Rajasthan had the lowest
Y ot 9 decadal population growth rate (2001-2011) in
G¥(2001-2011) NEEEE qHH ! percentage ?
(A) AT (B) & (A) Karauli (B) Dausa
Q) ST (D) EIT:c,"ﬁT (C)  Sriganganagar (D) Barmer
(E) 31’71’?1'&6[ PEC (E)  Question not attempted
52. A 9T $ %-rq T 3T Saas 2025 HA7=I|52. What is the name of the second multi-purpose
S IE RN @QWWWWWT% ? vessel built for the Indian Navy and launched in
i w January 2025 ?
(A)  IMETATH.FEE (A) INSSamrat
(B)  3ME.UA.T. T (B)  INS Shakti
© ME.TA.TE. gHA® (C)  INS Samarthak
(D)  3MS.TA.TH. IhY (D) INS Utkarsh
(E) 3:['-\[)?@?[ g9 (E)  Question not attempted
53. fyefoiag § 9 e afites T % e 3TTpaT |53, The reaction between which of the following pairs
% TRy freenae st R BT 2 of reactants, will result in a displacement reaction ?
AagNO KESIEL solution and Copper meta
A gNO, Fretae i qfar g A)  AgNOj soluti d Copp 1
(B) CuSO, e 3 =it a1 (B)  CuSOjy solution and Silver metal
(©) NaCl e ST T BIGH (C©) NaCl solution and Copper metal
(D)  FeSO N e ST T BIGH (D)  FeSOy solution and Copper metal
(E) a:lﬂﬁ—c[ g9 (E)  Question not attempted
| 4 DR29 11 P.I.0
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54.

55.

56.

57.

58.

o [aNEaN

T feTRad # o fope W T | a9 | feaet

[EBIEEERE S F)

(A)  TaER (B) wARCH
(©  ehmom (D)  deTrET
(B)  3rfana e

SR HIST BT I TE AL :

(A) CaOCl, (B) NaHCO;
Q) NayCO, (D) CaSO,

—

E)  3raid ued

fr=faiad & ¥ fpae T & Sier | 1857 #i
TBTTel BT e TR T 2

(A) TEFEE

(B) HETE@™ME

(©) I\ Mg @Iar

(D) e g

(B)  3rfand e

frfaRad # I F9-Tt ToRT e #t 7
fergroramatt # enfHe TR 2

TrferRad faeedt # 9 Fow ST ST I :

(A) TR Tt BT "aet, fhel, diedl 3y
gaferart & Qrdsti-e vgei= T gran

T I ISP ATAE SO I THTT FHT RS
Tersror

TTehieres Higy 3T ART Wigy &7 Fsitg ooy
TSTEATAT BT 1 TR ug=m= 312
Tt # oAt 3 QTR geiH # SHea Tomi o
T

AR 99

TSTRATA T ferstmr 5t afiyes Ruie 2024-25 % 3T,
et gt 7 o Foperd et a1 e, wattus
29

(B)

©

(D)

(E)

TrfeTREd faeedt # & Ted g STY 9
(A) 3T (B) SR
© <z (D) 3I=TAR

(B)  3raRd e

| % DR29 12

55.

56.

58.

Which of the following Indian States currently does
NOT have a bicameral legislature ?

(B)
(D)

Question not attempted

(A)
©
(E)

Bihar Karnataka

Haryana Telangana

The chemical formula of Baking Soda is :
(A) CaOCly (B) NaHCO;5
(©) NapyCOs3 (D) CaSOy4
(E)  Question not attempted

Who among the following led the Revolt of 1857 in
Kota, Rajasthan ?

(A) Hardayal Singh

(B) Mehrab Khan

(©) Ram Gopal Singh Kharwa
(D)  Kushal Singh

(E)

Question not attempted

Which one of the following is not a main feature of
Rajasthani painting ?

Choose the most appropriate answer from the
options given below :

(A) Rajasthani painting is not publicly displayed
in palaces, forts, temples and havelis

(B)

The amatory (sringarik) depiction of seasons
and their impact on human life

Vivid depiction of natural as well as feminine
beauty gives Rajasthani painting a distinct
identity

Use of vibrant colours in the portrayal of
‘bhakti’ and ‘shringaar’ in paintings

(E)

Question not attempted

According to Rajasthan Forest Department Annual
Report 2024-25, which of the following regions has
maximum total forest area ?

Choose the most appropriate answer from the
options given below :

(A)
©

(E)

Ajmer

Tonk

(B)
(D)

Question not attempted

Rajsamand

Udaipur
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59.  TroTeTE 39T €T ffeiad § & 69 Trsw/de|59.  Rajasthan shares its boundary with which one of the
T[S9T- 81T o T TS AT 29 following States/Union Territories ?
(A)  HERT (B) feoatt (A) Maharashtra (B) Delhi
Q) feATIAT w=r (D) U (©) Himachal Pradesh (D) Punjab
E PEC E Question not attempted
(B) 3raRd (E) p
60.  SF 2025 # T feTad § & fH TS o ¥ar|60.  Who among the following has been appointed as
ST HT m&-ﬁw ﬁFCITTITIT% 5 the Chairman of the Rajasthan Public Service
' Commission in June 2025 ?
(A)  warsmd (A) Sangeeta Arya
(B) R ﬁ:rg ﬂﬁg (B)  Shiv Singh Rathore
© ﬂqc'\ar_g{ e (C©) Bhupendra Singh
(D) 3IpA A BIES (D)  Utkal Ranjan Sahoo
E PEC E Question not attempted
(B) 3raRd (E) p
61. Tq=TET ﬁﬁﬁb‘{:{ﬁ‘, S EIGH %ﬂ@'ﬂ?ﬁ%wﬁ 61. Who among the following, had taken oath three
A aTaT &t oft 9 times, as the Chief Minister of Rajasthan ?
(A) MEARGRIGICLSE (A) Tika Ram Paliwal
(B) R frg e (B)  Bhairon Singh Shekhawat
©) = qg‘r%‘aT (C) Jagannath Pahadia
(D)  EIRTATe AT (D) Heera Lal Shastri
E PEC E Question not attempted
(E) srgaRa (E) p
62. fToefeiRga Afeot d§ ¥ Y ‘a9 & 3mm’|62.  Which of the following rivers is also known as
(BT 311 BT 3 19 & 9 STAT AT 2 “Van-Ki-Asha’ (Hope of Forest) ?
(A) AT (B) qTIeaT (A) Banas (B) Parbati
© Ffﬁ (D) BT (©) Luni (D) Kalisindh
E PEC E Question not attempted
(E) srgaRa (E) p
63. ‘@ae_crhﬁ@'l?rr’ ¥ frera ‘@’ 3T ‘e’ e |63, In the ‘Turra Kalangi Khyal’ what do the famous
T E 9 “Turra” and ‘Kalangi” symbolize ?
(A)  WITET TTOI9T 3T 78T (A) Lord Ganesh and Lakshmi
(B) Tyt T gret (B)  Shiva and Parvati
(C)  TTTIATFT (©) Radha and Krishna
(D)  THINTHT (D) Ram and Sita
E PRC E Question not attempted
( p
| % DB29 13 P.T.0
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64. Qa'ﬁaq_{UT *F 7 IO P ﬁﬂ‘-—r, PESS (ﬁET) IS 7| 64.  During the 7 stages of its integration, Greater
TS ZIA AT : Rajasthan was formed on :
(A) 30 W= 1950 (B) 30 W= 1951 (A)  30thMarch1950 (B)  30th March 1951
<© 30 AT 1952 (D) 30 T 1949 (©)  30thMarch1952 (D) 30th March 1949
(B) 3raRd wed (E)  Question not attempted

65.  Ta9T gotaeor feawy 2025 efeiga | 9 fog @ q¥ |65. The World Environment Day 2025 was celebrated
9T e WW@ TSI 2 with a special focus on which of the following

’ issues ?

(A)  ATRTE TGHOT B TAT HIAT (A) Ending plastic pollution
(B) H’{l}é‘l’ TSIl BT HLLT (B)  Marine species conservation
(© 3T|é‘q;ﬁ-'| H IR RIS W‘CF—[ (C)  Ecological restoration of wetlands
(D) St fereeit ASTTTerat T HIGToT (D) Conservation of big cat species
(E) alT-ﬁﬁ_c[ PRC (E)  Question not attempted

66. TETCMET T YRS gﬁﬁ B ‘TAT gﬂ?rr’ F AT AT 66. Which of the following lakes is also known as the
TTI'I:!TGFIHT% 9 ‘Dhebar Lake” ?
(A)  JI9HT (B) =t (A) Jaisamand (B)  Pichola
© g= (D) TSHHES (C) Pushkar (D) Rajsamand
(E) 31’71’?1'&6[ PEC (E)  Question not attempted

67. 1615 ® ﬁ?ﬂg—w Q:i'f‘\a, Elgﬁ:lT 3N Fposs = gg 67. In 1615, the Mewar-Mughal treaty was signed
oft 9 between Jahangir and :
(A)  TToTT 3T fiTE-1 (A) Rana Amar Singh-I
(B) Tom3ew e (B) Rana Uday Singh
(©) #HaEEI AT (©) Maharana Kumbha
(D) HeRTM TS g (D) Maharana Raj Singh
(B) 3raRd wed (E)  Question not attempted

68.  I[STEATH T, efeRET 8 9 Sie-97 ST TissaTT | 68.  Which of the following districts of Rajasthan does
¥ T @'HTH'IEITH@'WT%’ 9 not share a border with Pakistan ?
(A)  TBER (B)  woller (A) Bikaner (B) Phalodi
© A IGRIES (D) Er@'ﬁlT (C) Sriganganagar (D) Barmer
(E) 3:['-\1);1‘% 9T (E)  Question not attempted

| % DB29 14
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69.  TSTEATH T UTASd M - “erat e o - 6 2wr|69.  The iconic song of Rajasthan - “Dharti Dhoran Ri”
T 9T 2 - was written by :
(A) BTl HSAT (A) Kanhaiyalal Sethia
(B) HUWBIIT STreft (B)  Satyaprakash Joshi
(©) URH 3T (C) Paras Arora
D TS D Meghraj Mukul
(D) ApA ghraj
(B) 3raRd wed (E)  Question not attempted
70. TSI 9 HeTd T HTATH =qyH |70. Name the first person who belonged to Rajasthan
SRIEL p g ]
AT T T TR e T O 2 and he was awarded the Param Vir Chakra ?
(A)  ATIH AT I FS (A)  Naik Jadunath Singh
(B) Tedia Afede 5o @aaTe (B)  Second Lieutenant Arun Khetarpal
© FeqfaEa T (C©) Captain Vikram Batra
; ompan avildar Major Piru Sin
D)  HYAT ETATR H IHE D) Company Havildar Major Piru Singh
(E) 3]7-@%\—(-[ PR (E)  Question not attempted
71. S AT A TA H 8 km/h F AT TATHBATE | TTG|71. A man can row a boat at 8 km/h in still water. If the
TR FURTEITR 2k /h 2 TATIY Rpt 2 a6 =1 speed of water current in the river is 2 km/h and he
> R .. takes 2 hours to row to a place and come back, then
4 :ﬂﬁ-ﬁ 2 e E IR how far off is the place (in km) ?
T Fpat g2 (km #) TRE ?
(A) 75 (B) 76 (A 75 (B) 7.6
< 775 (D) 7.25 < 775 (D) 7.25
(E) 31’71’?1'&6[ PEC (E)  Question not attempted
72, 2,500 B RTINS TW3THHT 3,250 ST 72, A sum of T 2500 on simple interest becomes
| TR R, TN 2 aY FT THIRE T T % 3,250 in 3 years. What will be the compound
zﬂff:r sﬁ interest on the same sum at the same rate of interest
! after 2 years ?
(A) 510 (B) 525 (A) 510 (B) 525
(©) T550 (D) %500 (©) 550 (D) X500
(B) 3raRd wed (E)  Question not attempted
73. WA & ST 7 HA07 I Iredt iaem ¥9T |73, How many women members were part of the
B \feetT gew off 2 Constituent Assembly that formed the Constitution
) of India ?
(A) 24 (B) 15 (A) 24 (B) 15
<© 30 (D) 20 <© 30 (D) 20
(E) a:lﬂﬁ—c[ g9 (E)  Question not attempted
| % DB29 15 P.T.0
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74.

75.

76.

77.

78.

T 3T TR T Hef T Tl ATHA H, FBIHAT BT
T TATEHR HI BT ?

(A) T

(B) 5w % W Wraq

(C) T 3= AT o A AT

(D) e

(B)  3rfana e

Tep = T # HIg ST HTEMROT ST U 10% ATHH
R Y T B A A &SI 2

(A) 1599 (B) 20a¥

© 25Ty (D) 3oad

(B)  3raRd 99

2011 ST & AR, Fferiad 7 9 o6 fret
Y ATETRAT T 75% H 3TFereh ot 2

(A) ST (B) wler

© R (D) SHTHT

(B)  3raRd e

frfefaa 7 ¥ dSTgH R A9eTor WA & -9
T T e T A R 2

(A) e - fefeae

(B)  wpe - Tt

(© i - AT

(D) STy - THATgEST
(B)  3raRd e

“Tmer” F=faRad § ¥ S gt o e 2on

% 3T (B [BATSITATE ?

(A) TG AT (TIRIBI)

(B)  ftoctt arer (A&sIT®I)
©  FrEEE AT (STwe)
(D) =t aTer (HISTHIA)

(B) 3raRd wed

| % DR29 16

74.

75.

76.

77.

78.

Who acts as the principal advisor to the Chief
Minister, on all matters of policy and
administration ?

(A) Governor

(B)  Chief Secretary of the State

(C)  Chief Justice of the State High Court
(D) Home Minister

(

E)  Question not attempted

In how much time, a sum of money becomes three
times of itself at a rate of 10% per annum simple
interest ?

(A) 15 years (B) 20years
(C©) 25years (D) 30 years
(E)  Question not attempted

According to the 2011 Census, which of the
following districts had a literacy rate above 75% ?

(A) Jalore (B) Kota
(© Alwar (D) Jaisalmer
(E)  Question not attempted

Which of the following pairs of enzyme and site of
synthesis is NOT correctly matched ?

(A) Kidneys - Trypsin
(B)  Liver - Bile

©
(
(

Intestine - Maltase

o

)  Salivary gland - Amylase

E)  Question not attempted

The “Nagara” is classified under which of the
following categories of musical instruments ?

(A) Aerophone

(B) Membranophone

(C©) Idiophone

(D) Chordophone

(E)  Question not attempted
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79.  “Saryg qRaaa” & foqu Tre=faiaa § o, 7E®t|79.  “Climate change” is considered a causal factor of
BT HETSTEATS 2 which of the following phenomena ?
NS o~ . Choose the most appropriate answer from the
T TeTRE ferehed H o e SUYERT 3T T options given below :
(A =H T HEHTﬁ (A) Extreme weather events
(B) STt 6 ﬁl@':—[ gﬁ%r HTHISET (B)  Low risk of species extinction
© :-H'ﬁﬁ‘g{ T IoBT AT 6T ISAT (C©) Increased meteor activity in the outer space
(D) TeaTera # fewae oo H gl (D) Increased glacier formation in the Himalayas
(B) 3raRd wed (E)  Question not attempted
80. HT I FpAY I5T BT TaaT= qﬁ'srq: HT TS a4 F|80. What is the minimum age requirement to be a
T STATE 3 L 9 member of the Vidhan Parishad (Legislative
e ™ Council) of a State in India ?
(A)  309¥ (B) 359y (A) 30years (B) 35years
©) 45a9 (D) 259y (C) 45years (D) 25years
(E) 3]7-@%\—(-[ PR (E)  Question not attempted
8l. T=AfTREd o W BIT-TT TF T b9 AideduT Aef|81.  Which of the following is not an Application
% 9 Software ?
(A) ST THET (A)  GIMP
(B) THUH.TS (B) MS Word
©) =gItaH (C) QBASIC
(D) TSI BN (D)  Adobe Photoshop
(E) 31’71’?1'&6[ PEC (E)  Question not attempted
82. WWﬁE@WHﬁG@T, a@zﬁaﬂwﬁ 25% |82. In a school, the number of girls is 25% more than
W%HWWH&%H@T 1620 T3t 60 30T that of boys and the total number of students is
St RreTTerT & wareT 3t % S O — 1620. If 60 more girls are admitted and 80 boys leave
; . ) QT. o EO o the school, then the ratio of number of boys to that
8IS 30 &, 1 TSl Bl AT BT ASTHAl B T=T 5 of girls will be :
TT ST T :
(A 2:3 (B) 33:49 (A) 2:3 (B) 33:49
() 39:41 (D) 20:21 (C) 39:41 (D) 20:21
E PRC E Question not attempted
( p
| 4 DR29 17 P.I.0
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83.

84.

85.

Bl AT THgrs ST Bt fFAT X 9T 3 a9 H
% 6,65,500 3T 5 T | T 8,05,255 & ST & | T =TT
T TSt &Y TR 8, a1 I8 TRIFTE 2
(A) T 4,92,000 (B)  ¥5,00,000
(C) ¥ 5,25,000 (D) 4,80,000
(B)  3rIana e
frfeTiad ® & S gt o7 7 Sdes 3T It
H 3P ARIETH & [T 2024 F From= RN H
FHEAT [FT ITT R 2
(A)  FEiggETEE
(B) 3T
(C) ST g
(D)  SHifq IS
(B) 3raRd e
-1 3T -2 BT HATH BT :
-1 -2
CEAA U F A | (T SYUTGRT I
TER BI RAT) e 7 IMHR)
(@ [3FAT @) |w€t  (fawaria)
EIRICE)
(b) |FHATHE(C) TR (i) |TX] F AT IMHR
EARIRICE]
(©) |wiwd (F) MR ga|(iii) [3rda og  (Fag-
(P) B H TR T ()
(d) |aardg (C) AW [(iv) |a%q & BieT ufafaa
T T3 71T Taehedl & © |El 3R BT °g= BT
(A)  (a)-(ii), (b)-(1), (©)-(iv), (d)-(ii)
(B)  (a)-(iii), (b)-(ii), (0)-(i), (d)-(iv)
©)  (a)-(i), (b)~(iii), ()-(iv), (d)-()
(D) (a)-(iv), (b)~(ii), (c)-(i), (d)-(iii)
(B) 3raRd wed

| % DR29 18

83.

85.

A sum of money becomes X 6,65,500 in 3 years and
% 8,05,255 in 5 years at certain rate of compound
interest. If interest is being compounded annually,
then what is the sum ?

(A) 492,000 (B) ¥5,00,000
(C) %5,25,000 (D) ¥4,80,000
(E)  Question not attempted

Who among the following is the recipient of
Dronacharya Award for outstanding coaches in
Sports and Games - 2024 under regular category ?

(A) Sandeep Sangwan

(B) Annu Rani

(C)  Jarmanpreet Singh

(D)  Jyothi Yarraji

(E)  Question not attempted

Match List-1 with List-2 :
List-1

(Position of object in
front of concave

List-2

(Size of image formed
by concave mirror)

mirror)

(@) |AtInfinity (i) |Enlarged

(b) |At the Centre of|(ii) |Same Size as the
Curvature (C) object

(c) |Between Focus (F)|(iii) |Highly
and Pole (P) diminished (point

sized)

(d) |Beyond Centre of|(iv) |Diminished

Curvature (C)

Choose the correct answer from the options given
below :

(&) (@)-(iid), (b)-(0), (c)-(iv), (d)-(ii)
B)  (a)-(iii), (b)-(ii), (c)-(), (d)-(iv)
© (@)=, (b)=(iti), (c)-(iv), (d)-(0)
D) (a)-(iv), (b)-(ii), (c)-(), (d)~(iii)
(E)  Question not attempted
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86. TTATANTA H W HI-HT AT, ‘EqaqAg HabIa’ 91. ‘udfera’ 9TeE % foru S ATty
PIITERTE ? (A) P o TS E
(A)  TE 3T 3 AR BT T | B) SoeTFTTTE
(B)  H U, ifehel qeeeb I TS | © SgEa et aienaarar
(©) TEH TS IEE | D) frawradensr T IHrE
(D) T AT # Tt & | (E)  Srieet et
(B)  Irqand e 92. ST+ S B BN :
87. TrfTiiad eTeat # & THEATI® HeAT HT ISR (A)  Tar (B) g
& © &aw (D)  &dfvar
(A)  wHaT (B) @wr (B) 31 aRd e
© === (D) T 93. ‘GLOBALIZATION' % feTq Sugem f&dt arsa & -
(B)  Irgand e (A)  getBTor (B)  deTteIOr
88. “QRIA Bl WHT RaeT™ F 7T faea-wT 3 ©)  sredm (D)  fagsreseor
TETN” — SH a1 | HIA-HT {GAT07 FFFT g3 (F)  waRa wed
# 94. ‘P’ ITE A YYHI T & :
(A)  urRETETa g
(A) TH B) =
() o fareer © == O &=
(© T T ) s v
(D) egTaTE faLreor 95. frrferfima & ¥ T erea ¥ -
(B) 3raRd " (A) g (B) TSt
89. frATAEA AT g aL: (© fafgam D) g
(A) 3T YR G T | (E)  sraRd ued
(B) X I TaaiT WHT A&l 37 | 96. FIHWRI I H Faterd & forw g & fepgest vnw
(© e s S At e | TSI 7
(D) % forr 3t s sire ok ST AT | (A) ST B)
® s s © e (D) wad
90. feferiad § ¥ F-TT AEH A= AT ? ®) ﬁ?ﬁﬁ N
&) i . 97. frefafEddd I asE:
(A)  3STad (B) 3B
E;:)) a:ﬂ?lﬁ‘rr EC] oo (©) I (D) ferramy
(B) 31 aRd e
| % DR29 19 P.T.O
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98. ‘Heuer BT AT : 103. e ST T H I~ 707 &N & T ALY 2
(4)  smgr B) g (A) frowreear  (B) e
© =& (D) =&
(B)  3raRd e © ®
99. fymferiEa § 9 ey aTaw A T fRaT BT aah (B) SraRd wed
T E? 104. 3o T eI ATH FAAGE IH o BT 7 F -
(A) g faer grar 2 | : .
(B) wETTIAITETE| (A) - TT e Tt SferT 2T
© Aufeagaars| (B)  3fer e T[0T BT
(D)  #ieA fphe WeraT 2| (C) i el T SHER BT
(B)  3raRd e .
D %
100. “TRTHR’ 9Te5 § HIT-FTITTA L ? ©) gt
(4) R ®) () STRT 5
© =R D) 105.  Fit-1 T HT-2 F T AT FHHFAT -
(E) STand ued 1 -2
101. TTTAREd AT=T | ¥ ‘3RY’ Teg BT qa=aray
e (TEATH) GIERIEEEIER))
O 4 (@) |TouaT=IH (i) |[SETATHITIMTETE ?
1) HEA SERILH
(1) W (b) |sttremrmaTas  |(i) [H 3 3T =el
(V) SETe Td= ST |
v) faf=
T fau T faheat # 9 Toe UG 3TR BT I © mwi () | g o |
BT :
(A)  Fad (1) 3 (I0) (d) |Frstaras (iv) [Tt T2 QTia T&aT
(B)  ae (III) 3R (V) i
Q) et (1) 3hT (1v) T fau T farheat # ¥ e SUYER 3A% T 99
(D) &ad (I1) 3R (IV) UL
(E) ST w9 (A)  (a)-(iid), (b)-(i), (c)-(ii), (d)-(iv)
102. iﬁmw ’amwani%: (B)  (@)-(v), (b)-i), (c)-(id), (d)-(i)
(%) W;ﬁ?ﬂ““ o ©  @-i), ©)-v), ©-Cii), (@)-()
B _
(B) oS ©)  @-Gv), (b)), ©)-(), (-G
(©) =X H ST BT AT
: (E)  3rIaid ued
(D)  &TH H 7T 7 &I
(B)  Srqand wed
4 DR29 20
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106. Choose the suitable word to fill in the blank in 110. Fill in the blanks by matching List-I with
the following sentence : List-1I :
I wish to my ties with that List-I List-1I
organization.
(@) |They will return (i) |below
(A) sever (B) several 6 p.m.
(C) surreal (D) severe (b) | You must atone (ii) | till
your sins.
(E)  Question not attempted
(c) |They live us. (iii) | for
107. Fill in the blank in the following sentence with ) i
the correct tense (d) [Hestudied 11 p.m. |(iv) |by
I for jobs on jobhunt.com these days Choose the correct answer from the options
with the hope that I might get called for given below :
interviews. . . . .
(A) (a)-(v), (b)-(ii), (c)-(0), (d)-(ii)
(A) have been applying B)  (@-iv), (0)-60) (©-(ii), (-G
(B)  has applied @ (@)-(0), (b)-(ii), ()i}, (d)-(iv)
(C)  have applied (D) (a)-(i), (b)-(iv), (c)-(iii), (d)-(i)
(D) applying (E)  Question not attempted
(E)  Question not attempted 111. Choose the most appropriate option to convert
the given sentence from Active to Passive
108. Choose the most appropriate option to replace Voice :
the underhned. part of the' following se.ntence in People consider him to be a fair judge.
order to make it grammatically correct :
Amrita didn’t knew my address. (A) Itis hoped that he is a fair judge.
(A)  didn't known (B) Heis considered to be a fair judge.
(B) didn’t know (C) Hisjudgement is considered to be fair.
D) Heisconsidered by people to fairly judge.
y peop yjudg
(©)  no correction needed
E Question not attempted
p
(D) didn’t had
112. Choose the most appropriate option to convert
(E)  Question not attempted the given Interrogative sentence to an Assertive
sentence :
109. Fill in the blank in the following sentence with )
the most suitable article. Was he not kind to help you ?
news you broke to your wife made (A)  What a kind man he is!
her nervous and she broke down. (B) Heis so kind that he decided to help you
(A) A (B)  No article in that difficult situation.
required (©) He was kind enough to help you.
(© The (D) An (D)  He has displayed kindness, has he not ?
(E)  Question not attempted (E)  Question not attempted
| % DR29 21 P.T.0
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113. Choose the most appropriate option to convert 116. Convert the following sentence from English to
the given Assertive sentence to a Negative Hindi :
sentence : Dr. Gupta will buy the house that I built last
The fort was demolished before it was year.
surrendered. (A) ST, T g7 WX SR S A Ued 9w
(A) The fort was neither demolished nor FATITAT |
surrendered. o
® The dered bt (B)  Ef. @ AT IR ERIAT |
B e fort was surrendere efore it was . .
demolished. (©) =TT Ued HTd § ;R H B IR e |
(C) The fort was demolished and (D) %Twﬁa%wafla%maﬁﬁﬁr@ﬁw
surrendered. TATETAT |
(D) The fort was not surrendered until it was (E)  Question not attempted
demolished. 117. Choose the option with the correct use of
(E)  Question not attempted punctuation(s) :
114. Choose the most appropriate option to convert (A) Prashant likes croissant doesn’t he ?
’;he g}ilven sentence from Indirect to Direct (B)  We need snacks, drinks and lights.
peech: (C)  The sunhaving risen : we left for the town.
This morning, he said that he would leave for . . .
Hyderabad the next day. (D)  “Iam going tomorrow he” said.
(A) This morning, he said, “I will leave for (E)  Question not attempted
Hyderabad tomorrow.” 118. ](Eionlx'felit the following sentence from Hindi to
nglish :
(B)  This morning, he said, “He will leave for 5 8 #3
Hyderabad the following day.” HASTHATATHE |
(C) This morning, he said, “I may leave for Chgose the most appropriate answer from the
Hyderabad tomorrow.” options given below :
(D) That morning, he said, “I will have left for (A)  IwishlIcould justrelax.
Hyderabad the next day.” (B) Iam stressed about something.
(E)  Question not attempted (C) Iam stressed these days.
115. Choose the most appropriate option to convert (D) Tam tensed today.
the given Assertive sentence to an Exclamatory (E)  Question not attempted
sentence : 119. What 1is the official/technical term for
I ardently wish to have a small house to live in “Complaint or a cause for complaint” ?
Goa. (A) Provision (B)  Grievance
(A) What a pity! I do not have a small house (C)  Publication (D)  Sadness
to live in Goa! (E)  Question not attempted
(B)  What a small house in Goa! 120. Fill in the blank with an appropriate
(C) It is my wish to live in a small house in determiner :
Goa. milk is left in the bottle ?
(D) How I wish for a small house to live in (A) How many (B) How much
Goal (©) Any (D) Some
(E)  Question not attempted (E)  Question not attempted
-00o0-
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